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In the table below, v = f(z) and v = g(z) represent differentiable functions of =
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(We could also write (¢f)’ = ¢f’, and could use
the “prime notion” in the other formulas as well)
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Table of Derivatives

Throughout this table, a and b are constants, independent of x.
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DIFFERENTIATION TABLE (DERIVATIVES)
Notation: u = u(x) and v = v(z) are differentiable functions of z;

d
¢, n, and a > 0 are constants; u' = d_u is the derivative of u with
T
respect to (w.r. to) z
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(Note: sin™! = arcsin, cos™ = arccos, tan™! = arctan. )



